A €2 Fi% H—7 v hE B e A RA—=71— S t it

~y R 3,500 1,800 1 1 Fv b WE2 ) —vG| 7Y —v
JLEE ~y R 3,500 1,800 1 1 EEAN @27V —vG| 7Y —v
~y R 3,500 1,800 1 1 Fv b WE7 ) —vG| 7Y —v
~y R 3,500 1,800 1 1 Fov b @27V —vG| 7Y —v

PHEEL
1F SNy AR 1,300 1,800 1 1 FL—7 vva—iu | HEzY—vG|Z)—v
~y R 3,500 1,800 1 1 Fov b @27V —vG| 7Y —v

PHEE2
Ny AB] 1,300 1,800 1 1 FL—7 WE7 ) —vG| 7Y —v
~y R 3,500 1,800 1 1 F v b HE2Z ) —vG| 7Y —v

BEES
Ny AB] 1,300 1,800 1 1 FL—7 WE2 ) —vG| 7Y —v
L HERE A 1,000 1,700 1 1 FL—7 HE 2 ) —v G| 74%)—
3F WHE] ES 2,500 2,000 1 15 N vva—u AF2G | Ffe—
WHE2 & 1,900 1,800 1 15 S AX2G  [AAe—
L ES An 2,100 1,700 1 1 FL—7 B2 V=G| 7489~
AH 1,500 1,800 1 1 F v b HE 2 ) —vG| 7Y —v
o £ 2,500 2,000 1 1.5 FL—7 HEr7 =2 VG| 2) —v
AH 1,500 1,800 1 1 F v b W2 )—vG| 7Y —v
e = 2,500 2,000 1 1.5 FL—7 722 1G] 2 —v
NS 1,500 1,800 1 1 F v b HHzs V- G| 7Y —v
e = 2,500 2,000 1 1.5 FL—7 722 1 G| 2 ) —v
NS 1,500 1,800 1 1 F v b HHz V- G| 7Y —v
e = 2,500 2,000 1 1.5 FL—7 722 1 G| 2 ) —v
<y 2,700 2,200 1 1 EPAY HEZ)—vG|r)—v
~y R 4,400 2,200 1 1 R HEz ) —v G| 7Y —v
e <y R 4,400 2,200 1 1 EPAY HE2)—vG|r)—v
= 2,000 2,000 2 1.5 FL—7 HEz7 =2 VG| 7)) —v
<y R 2,700 2,200 1 1 F v b HE2)—vG|r)—v
~y R 4,400 2,200 1 1 R HlEz ) —v G| 7Y —v
o <y R 4,400 2,200 1 1 F v b HEZ)—v G| —v
= 2,000 2,000 2 1.5 FL—7 HET7 =2 FG| 7Y —v
<y R 2,700 2,200 1 1 F v b HE2z)—vG|r)—v
4F <Ry P 4,400 2,200 1 1 Fov b vva—n | HEZY—v G| Y —v
10 <y R 4,400 2,200 1 1 F v b HEZ)—vG|r)—v
= 2,000 2,000 2 1.5 FL—7 HET7 =2 FG|2) —v
<y R 2,700 2,200 1 1 F v b HHs V-Gl 7Y —v
~y R 4,400 2,200 1 1 ERAN #lE 2V —v G| 7Y —v
o <y R 4,400 2,200 1 1 F v b HEZ)—v G| —v
= 2,000 2,000 2 1.5 FL—7 HET7 =2 FG| 7Y —v
<~y K 2,700 2,200 1 1 F v b W2 ) —vG| 7Y —v
Ay R 4,400 2,200 1 1 EXA #lE 2V —v G| 7Y —v
H <~y K 4,400 2,200 1 1 F v b Wz ) —vG| 7Y —v
= 2,000 2,000 2 15 FL—7 HET7=2 VG| 7)) —v
E /S REES = 1,800 1,650 1 15 S 4 F*2G FA =
. 2,700 2,200 1 1 EXA #lE 2V —v G| 7Y —v
st 4,400 2,200 1 1 Ao b Hilws YV —vG| 7Y —v
Ny R 2,700 2,200 1 1 EXA #lE 2V —v G| 7Y —v
412 o 2,700 2,200 1 1 ERAS Hilws YV —vG| 7Y —v
o 4,400 2,200 1 1 EXA #lE 2V —v G| 7Y —v
~y R 2,700 2,200 1 1 F v b WE7 ) —vG| 7Y —v
& 2,000 2,000 2 15 FL—7 HET7 22 1 G| 7Y —v




U g€ i h—7 v ik M | ex 30 A—=71— i ) fif%
) 2,700 2,200 1 1 Fov b @27V —vG| 7Y —v
st 4,400 2,200 1 1 ERAS W@z YV —vG| 7Y —v
~y R 2,700 2,200 1 1 EEAN @27V —vG| 7Y —v
413 ) 2,700 2,200 1 1 Fv b WE7 ) —vG| 7Y —v
o 4,400 2,200 1 1 Fov b @27V —vG| 7Y —v
~y R 2,700 2,200 1 1 Fv b WEz ) —vG| 7Y —v
= 2,000 2,000 2 15 FL—> HET7 221Gl 7Y —v
) 2,700 2,200 1 1 Fv b WE7 ) —vG| 7Y —v
st 4,400 2,200 1 1 F v b HE2Z ) —vG| 7Y —v
~y R 2,700 2,200 1 1 Fv b WE2 ) —vG| 7Y —v
415 ) 2,700 2,200 1 1 F v b W2 ) —vG| 7Y —v
ot 4,400 2,200 1 1 Fov b HlEs YV —vG| 7Y —v
Ny R 2,700 2,200 1 1 F v b HE2z ) —vG| 7Y —v
£ 2,000 2,000 2 15 FL—7 HEr7 =2 VG| 2) —v
~y R 5,300 2,200 1 1 F v b HE 2 ) —vG| 7Y —v
4F vva—)i
~y R 5,300 2,200 1 1 Fv b WE2 ) —vG| 7Y —v
416 Ny R 2,800 2,200 1 1 F v b W2 )—vG| 7Y —v
~y R 2,800 2,200 1 1 EEAY Hwz ) —v G| 7Y —v
& 2,000 2,000 2 15 FL—7 HET7 221Gl 7Y —v
~y R 5,300 2,200 1 1 EEAY HlEz ) —v G| 7Y —v
<y R 5,300 2,200 1 1 F v b HE2)—vG|r)—v
417 <~y F 2,800 2,200 1 1 EEAY Hlwz ) —v G| 7Y —v
<y R 2,800 2,200 1 1 EPAY HEZ)—vG|r)—v
= 2,000 2,000 2 1.5 FL—7 HEz7 =2 VG| 7)) —v
<y R 5,500 2,200 1 1 EPAY HE2)—vG|r)—v
~y R 5,500 2,200 1 1 EEAY Hwz ) —v G| 7Y —v
<y R 5,500 2,200 1 1 F v b HE2)—vG|r)—v
e ~y R 2,700 2,200 1 1 EEAY HlEz ) —v G| 7Y —v
& 2,000 2,000 2 15 FL—7 MW7 221Gl 7Y —v
= 2,400 1,650 1 1.5 FL—7 HHz7=2 G| 7V —v
HKE Ad 2,100 1,700 1 1 FL—7 27 ) —vG|T7A+)—
AH 1,500 1,800 1 1 ERAN #lE 2V —v G| 7Y —v
o & 2,500 2,000 2 15 FL—7 MW7 221Gl 7Y —v
AH 1,500 1,800 1 1 ERAN #lE 2V —v G| 7Y —v
o & 2,500 2,000 2 15 FL—7 MW7 221Gl 7Y —v
AH 1,500 1,800 1 1 ERAN #lE 2V —v G| 7Y —v
o & 2,500 2,000 2 15 FL—7 MW7 221Gl 7Y —v
AH 1,500 1,800 1 1 ERAN #lE 2V —v G| 7Y —v
o S 2,500 2,000 2 15 FL—7 #7227 G| 7Y —v
A 1,500 1,800 1 1 EXA #lE 2V —v G| 7Y —v
5F o0 %= 2,500 2,000 2 15 FL—7 vva—L (HEz 722 VG| 7Y —v
A 1,500 1,800 1 1 EXA #lE 2V —v G| 7Y —v
o S 2,500 2,000 2 15 FL—7 HEr7 =27 G| 7Y —v
Ny R 2,700 2,200 1 1 EXA #lE 2V —v G| 7Y —v
=y F 4,400 2,200 1 1 F v b Wz ) —vG| 7Y —v
o0 ~y R 4,400 2,200 1 1 EXA #lE 2V —v G| 7Y —v
S 2,000 2,000 2 15 FL—7 HEr7 =27 G| 7Y —v
~y R 2,700 2,200 1 1 EXA #lE 2V —v G| 7Y —v
~y R 4,400 2,200 1 1 F v b WE7 ) —vG| 7Y —v
o ~y R 4,400 2,200 1 1 Fov b @27V —vG| 7Y —v
£ 2,000 2,000 2 15 FL—7 HEr7 =2 VG| 27D —v




U g€ i h—7 v ik M | ex 30 A—=71— i ) fifi%
~y R 2,700 2,200 1 1 Fov b @27V —vG| 7Y —v
~y R 4,400 2,200 1 1 F v b WE2 ) —vG| 7Y —v
o ~y R 4,400 2,200 1 1 EEAN @27V —vG| 7Y —v
£ 2,000 2,000 2 15 FL—7 HEx7 =2 G| 27D —v
~y R 2,700 2,200 1 1 Fov b @27V —vG| 7Y —v
~y R 4,400 2,200 1 1 F v b WEz ) —vG| 7Y —v
o ~y R 4,400 2,200 1 1 Fov b @27V —vG| 7Y —v
£ 2,000 2,000 2 15 FL—7 W@ =2 VG| 2) —v
E R EREE &= 1,800 1,650 1 1.5 S 4 A 2G FAE—
513 (F%) & 2,000 2,000 2 1.5 FL—7 FFEAT A
) 2,700 2,200 1 1 F v b W2 ) —vG| 7Y —v
ot 4,400 2,200 1 1 Fov b HlEs YV —vG| 7Y —v
Ny R 2,700 2,200 1 1 F v b HE2z ) —vG| 7Y —v
515 ) 2,700 2,200 1 1 Fov b HlEs YV —vG| 7Y —v
st 4,400 2,200 1 1 F v b HE 2 ) —vG| 7Y —v
~y R 2,700 2,200 1 1 Fv b WE2 ) —vG| 7Y —v
& 2,000 2,000 2 15 FL—7 HET7 =221 G| 7Y —v
‘ 2,700 2,200 1 1 EEAY Hwz ) —v G| 7Y —v
st 4,400 2,200 1 1 F v b HHzs V- G| 7Y —v
~y R 2,700 2,200 1 1 EEAY HlEz ) —v G| 7Y —v
516 2,700 2,200 1 1 F v b HHz V- G| 7Y —v
5F <y F va—)n
4,400 2,200 1 1 ERA @7V —vG| 2V —v
<y R 2,700 2,200 1 1 EPAY HHzs V- G| 7Y —v
= 2,000 2,000 2 1.5 FL—7 HEz7 =2 VG| 7)) —v
) 2,700 2,200 1 1 EPAY HHzs V- G| 7Y —v
ot 4,400 2,200 1 1 ERA @7V —vG| 2 —v
<y R 2,700 2,200 1 1 F v b HE2)—vG|r)—v
517 ‘ 2,700 2,200 1 1 ERA @7V —vG| 2V —v
st 4,400 2,200 1 1 F v b HHzs V=G| 7Y —v
~y R 2,700 2,200 1 1 ERAN #lE 2V —v G| 7Y —v
& 2,000 2,000 2 15 FL—7 MW7 221Gl 7Y —v
~y R 5,300 2,200 1 1 ERAN #lE 2V —v G| 7Y —v
<y R 5,300 2,200 1 1 F v b HEZ)—vG|r)—v
518 ~v K 2,800 2,200 1 1 ERAN #lE 2V —v G| 7Y —v
<y R 2,800 2,200 1 1 F v b HHs V-Gl 7Y —v
= 2,000 2,000 2 1.5 FL—7 HET7 =2 FG|2) —v
<y R 5,500 2,200 1 1 F v b HEZ)—v G| —v
~y R 5,500 2,200 1 1 ERAN #lE 2V —v G| 7Y —v
<~y K 5,500 2,200 1 1 F v b W2 ) —vG| 7Y —v
o Ay R 2,700 2,200 1 1 EXA #lE 2V —v G| 7Y —v
S 2,000 2,000 2 15 FL—7 7 =2+ G| 7Y —v
= 2,400 1,650 1 15 FL—7 HET7=2 VG| 7)) —v
THAKE An 2,100 1,700 1 1 FL—7 B2 V=G| 74489~
NS 1,700 1,800 1 1 F v b HEz YV —vG| vy
601 N 1,900 2,000 2 15 FL—7 PR 4xw—
- 1,900 2,000 2 15 L—2 T A-6650 -
AR 1,700 1,800 1 1 F v b M@z —vG| vy
6F vva—i
602 . 1,900 2,000 2 15 FL—7 v VR Axo—
- 1,900 2,000 2 15 L—% T A-6650 -
NE| 1,700 1,800 1 1 Fov b HE27YV—vG| vv2
603 " 1,900 2,000 2 15 FL—7 PR Axwm—
" 1,900 2,000 2 15 L—2 T A-6650 -




U g€ g K —7 vtk B | ex e 1) A —H— BES =) fifi%

NE| 1,700 1,800 1 1 Fov b HE27YV—vG| vv2

605 N 1,900 2,000 2 15 FL—7 vrvA [4zm—
- 1,900 2,000 2 15 L—2 T A-6650 -

AL 1,700 1,800 1 1 F v b HEz ) —vG| vvy

606 N 1,900 2,000 2 15 FL—7 PR Axm—
- 1,900 2,000 2 15 L= T A-6650 -

NE| 1,700 1,800 1 1 Fov b HE2YV—vG| vv2

607 N 1,900 2,000 2 1.5 FL—> vrvA o [4za—
- 1,900 2,000 2 15 L—2 T A-6650 -

Al 1,700 1,800 1 1 R HlEz ) —vG| vvy

608 N 1,900 2,000 2 15 FL—7 PR Axzm—
- 1,900 2000 | 2 | 15 Loz T A-6650 -

AH 1,700 1,800 1 1 F v b HE 27V —vG| vv2

610 N 1,900 2,000 2 1.5 FL—> vrvA [4za—
- 1,900 2,000 2 15 L—2 T A-6650 -

AL 1,700 1,800 1 1 R HlEz ) —vG| vvy

611 N 1,900 2,000 2 15 FL—7 PR Axzm—
- 1,900 2000 | 2 | 15 L—x T A-6650 -

FIFEE A E &= 1,800 1,650 1 1.5 S 4 A 2G FAE—

= 1,700 1,800 1 1 R Hlgzr ) —vG| vvs

612 (Ff%) . 2,500 2,000 2 1.5 FL—7 FFA4T Axm—
- 2,500 2000 | 2 15 ez T A-6650 -

JN= 1,700 1,800 1 1 F v b Hwgz ) —vG| vvy

613 N 2,100 2,000 1 1.5 FL—7 vrvA [4zo—
B 2,100 2,000 1 15 L—2 T A-6650 -

AE 1,400 1,800 1 1 ERA flEz ) —vG| vvz

615 2,100 2,000 1 15 FL—7 PR PES-E

6F = sva—nu

2,100 2,000 1 1.5 L—2 T A-6650 -

JN= 1,400 1,800 1 1 F v b Hwz ) —vG| vvy

616 N 2,100 2,000 1 1.5 FL—7 vyvAx  |4xa—
- 2,100 2,000 1 15 L= T A-6650 -

AH 1,400 1,800 1 1 EEA @z YV —vG| vvz

617 N 2,100 2,000 1 15 FL—7 PR ER-=
- 2,100 2,000 1 15 L—x T A-6650 -

JN= 1,400 1,800 1 1 F v b Hwz ) —vG| vvy

618 N 2,100 2,000 1 1.5 FL—7 vyvAx  |4xa-—
- 2,100 2,000 1 15 L—2 T A-6650 -

AH 1,400 1,800 1 1 EEA HEzV—vG| vvz

620 N 2,100 2,000 1 15 FL—7 YrvA [4zm—
- 2,100 2,000 1 15 L—2 T A-6650 -

AL 1,400 1,800 1 1 F v b M@z —vG| vy

621 N 2,100 2,000 1 15 FL—7 v VR Azum—
- 2,100 2000 | 1 15 Loz T A-6650 -

= 1,400 1,800 1 1 F v b HEz YV —vG| vy

622 N 2,100 2,000 1 15 FL—7 vrvA [4zm—
- 2,100 2,000 1 15 L—2 T A-6650 -

AL 1,400 1,800 1 1 F v b M@z —vG| vy

623 N 2,100 2,000 1 15 FL—7 v VR Azum—
- 2,100 2000 | 1 15 Loz T A-6650 -

NE| 1,400 1,800 1 1 Fov b HE27YV—vG| vv2

625 N 2,100 2,000 1 15 FL—7 vrvA |[4zm—
- 2,100 2,000 1 15 L—2 T A-6650 -

- % 2,000 2,000 2 15 FL—> Y74 TR 7L—
2,000 2,000 2 15 L—2 T A-6650 -




